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2,057,313
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446,213,0008 x 14|
280,000,0009 x 14

0
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37,139,961 | 35,789,961 1,350,000
32,122,000 | 30,772,000 1,350,000
173 EIS|AHEEZR 31,822,000| 30,472,000 1,350,000
03 A|EZH|E 1,811,000 1,461,000 350,000
O UHHATEZ & ST DALY 350,000
o TH|(RfL22| 350,000,000% x 14l = 350,000
JEtHMEER 2,300,000 1,300,000 1,000,000
T SOHEZE 1,000,000
1,000,000,000% x 14! = 1,000,000
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100 AE24¢ 64,000 82,900 A 18,900
170 AHEUHZ £ 64,000 82,900 A 18,900
173 EISAHEEZRZ 4 64,000 82,900 A 18,900
64,000 82,900 A 18,900
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44 0¥ - 714 18,900,0008 = 218,900




